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A A
A =HEZME
Chelr FEHUXKIA (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 3,131,707
=H=20 35,781,211 30,850,254 4,930,957
= 32,203,090
& 2,504,684
Al 1,073,437
301 LPENSZ 33,406,120 29,189,052 4,217,068
= 30,065,508
= 2,338,428
Al 1,002,184
01 Al B&XHZ2(2REETA) 33,406,120 29,189,052 4,217,068
OMASES FHS0H(SXS0) 33,406,120
= 30,065,508
= 2,333,428
Al 1,002,184
403 XX SHHSKHE01 A 2,375,001 1,661,202 713,889
= 2,137,582
T 166,256
Al 71,253
02 SISO CHStX=2 X RIEAIS I 2,375,001 1,661,202 713,889
OMAESE FHIUH (=KX 2,375,001
= 2,137,582
T 166,256
Al 71,253
FEHIS T A 100,000 100,000 0
301 LetEHZ 100,000 100,000 0
03 A3 2 & 262 (XY THA) 100,000 0 100,000
OFEHIRH™(E=E F=)H20) 100,000
HUEEAN StAl SEXA 1,305,000 0 1,305,000
= 652,500
= 195,750
Al 456,750
301 LPBENZ 1,305,000 0 1,305,000
= 652,500
& 195,750
Al 456,750
01 AISIBEH 2GS (2 LEXZME) 1,305,000 0 1,305,000
OHAZAM StAl SEXA 1,305,000
= 652,500
T 195,750
Al 456,750
H=eS el REAHIA XA 4,000 4,000 0
201 Ler23H| 4,000 4,000
02 2324l 4,000 4,000
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| oguren 4,000
FHENAEE =29 1,500 1,500
201 eet23| 1,500 1,500
01 AtR2t2|HI 1,500 1,500
OF A=A 28+ 1,500
HFE FHSANUERD 2Y 5,000 5,000 0
201 et 3| 5,000 5,000
01 AtR2te|Hl 5,000 5,000
OdFE FAH=IUERD 2 5,000
FHSER MHIA 25t 10,000 10,000 0
201 er2 3| 10,000 10,000
01 At2t2lt] 10,000 10,000
OFH=R AMblA 25t 10,000
H=Al F=ASKEEH 29 349,000 310,000 39,000
307 elzto| & 349,000 310,000 39,000
05 212t =S 349,000 310,000 39,000
O&HFAl =HEXHEH 28 349,000
HE=E M8 2EFH 54 5,000 5,000
201 et 3| 5,000 5,000
01 At22t2l] 5,000 5,000
OAt2| =S AMHEE 1,320
OMIHIMTHM A3 wsHAs-E 1,160
OAM = HF SRS HAeE 2,520
FANLS U= B2 740,000 1,280,000 /540,000
= 540,000
Al 200,000
401 Al HIZ R OHHI 740,000 1,280,000 540,000
= 540,000
Al 200,000
01 Al&HI 740,000 1,280,000 540,000
OFIAMLS U= S5 740,000
= 540,000
Al 200,000
MNASHE 2UHES=2 K& 324,900 400,000 AT75,100
501 Ekt= 324,900 400,000 AT75,100
01 2Its A= 324,900 400,000 AT75,100
OMASHE dU=ESs NE 324,900
SASUOHLE &S N 66,000 66,000 0
301 Eet2 NS 66,000 66,000 0
03 A2 E A =TS (XL THH) 66,000 0 66,000
OZFLUOIIE &IIs XA 66,000
OIHXIBIS ™ Ard 5,000 5,000 0
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X XH -
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o SFRHAIE (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 5,000 5,000
01 At2teltl 5,000 5,000
ONIHXIEIR X At 5,000
NASHE =5 2+ 985,000 500,000 485,000
) 492,500
Al 492,500
101 21AH| 534,000 270,000 264,000
Il 267,000
Al 267,000
M ORNZZ2NSE S 534,000 270,000 264,000
OMASHE =28 HE+ 534,000
7l 267,000
Al 267,000
206 MH=Hl 436,000 222,000 214,000
Il 218,000
Al 218,000
01 M=4l 436,000 222,000 214,000
OMASHE =2 2+ 436,000
Jl 218,000
Al 218,000
401 AIEHIZ R HYI 15,000 8,000 7,000
J| 7,500
Al 7,500
01 Al&H| 15,000 8,000 7,000
OMASHE =2 N2+ 15,000
J| 7,500
Al 7,500
ZOHOI =84 JHA ALY 53,200 7,600 45,600
= 26,600
= 7,980
Al 18,620
402 2I2F X201 & 53,200 7,600 45,600
= 26,600
< 7,980
Al 18,620
02 QI X2 AL EE(OIHTHE) 53,200 7,600 45,600
OHOHI =B JHZEALH 53,200
= 26,600
< 7,980
Al 18,620
NASS ost=22 wHl X2 20,000 20,000
402 QI+ X201 & 20,000 20,000
01 QI X2 AL E R (KEMITHE) 20,000 20,000




2A: ASD
M F=HEAWM
ool FOERIAI o @el)
SA - B - SRI(EH) - HRAL - B A HIDEZ
|| omasz ciezae nu 12 20,000
M2 A X 281,460 281,460 0
M2 A AlR 281,460 281,460 0
201 YEr2 A | 130,460 130,460 0
01 AlR 21| 106,860 106,860 0
OMTBRA AR 106,860
OIS AHIE S| 40,000
kS 3,500
OISt AHIE 201X | 2,400
CERES 3,360
oxizz2 57,600
® Z229| 21,600 21,600 0
OWIIGIRA 22| 21,600
ezZzZ=9l L AAl 12,000
@2ty 9,600
03 A2 | 2,000 2,000 0
FEHRENS 2% (2ALY) 2,000
202 04| 6,000 6,000
01 2ot 6,000 6,000
OMIT2A AR 6,000
206 M= Hl 120,000 120,000
01 el 120,000 120,000
OMIBRA Al 120,000
@AHIA KT 118,000
OXZTIHH ABZTH S 2HE WET 2,000
401 AIZHIL S THY| 25,000 25,000
01 Al 25,000 25,000
OOFSIHA BIUAY 25,000
TAIZZ 22 350,240 91,240 259,000
[ 30,000
Al 320,240
2QIZ DAY 2 4,800 4,800
201 LBH2 | 4,800 4,800
01 AlR 21| 4,800 4,800
O=ABDACIRAG 2% S 4,800
DS ALBADG HED 45,440 86,440 A41,000
300 ME2 45,440 86,440 A41,000
01 2A - ZHANFEZS 45,440 86,440 A41,000
OZD2TY AlE2IBL WS 45,440
2FEDH A AR 200,000 0 200,000
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01 Al&H 200,000 200,000
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